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Tekst 4  Lady of the Flies? 

1p 5 What is the reason for making a new version of “Lord of the Flies” 
according to paragraphs 1 and 2? 
A to provide the public with fresh insights into the themes of the original 

story 
B to put an end to the debate that has been going on about the old 

version 
C to show the film industry has noticed the relevance of the modern-day 

feminist movement 
D to underline the idea that girls tend to be more social and peaceful 

than boys 

“the story is supposed to be an exploration of ‘toxic masculinity’” 
(paragraph 1) 

1p 6 Who of the following persons mentioned in the article is most likely to 
agree with this remark, judging from the text? 
A Scott McGehee (paragraph 1) 
B William Golding (paragraph 2) 
C Erin Gloria Ryan (paragraph 2) 
D Emine Saner (paragraph 3)  

1p 7 Which of the following fits the gap in paragraph 3? 
A In fact, they oppose it. 
B It’s all about the money. 
C It’s a risky experiment. 
D So much for artistic freedom. 

“a new film adaption of the classic 1954 novel Lord of the Flies, with one 
controversial adjustment” (alinea 1) 

1p 8 Hoeveel andere voorbeelden van films waarvan een nieuwe versie is of 
wordt uitgebracht, worden in deze tekst genoemd? 
Noteer het aantal. 

Tekst 5  The battle of Chief Druid King Arthur Pendragon 

1p 9 Which of the following fits the gap in paragraph 1? 
A In the meantime 
B On the other hand 
C Which is why 
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“Yet this week brings new hope” (paragraph 2) 
1p 10 Which success for Pendragon is this hope based on? 

He is allowed to 
A claim he is a distant descendant of the legendary King Arthur. 
B present his arguments about parking at Stonehenge to a judge. 
C replace his old name by his new one on official legal documents. 
D visit Stonehenge free of charge when leading religious gatherings. 

2p 11 Geef van de volgende beweringen over de moderne Pendragon aan of 
deze overeenkomen met de inhoud van alinea 3 en 4. 
Noteer “wel” of “niet” achter elk nummer op het antwoordblad. 
1 Hij is als beroepsmilitair ingezet bij gevechten rondom Stonehenge. 
2 Hij houdt zich bezig met lokale politieke kwesties. 
3 Hij leidde ooit een gewoon burgerbestaan. 
4 Hij wordt algemeen erkend als de opvolger van Koning Arthur. 

1p 12 What is the main purpose of paragraph 5? 
A to emphasise that the Modern Druid movement is widely accepted in 

society nowadays 
B to explain that the Modern Druid movement needs more publicity 
C to illustrate the violent character of the Modern Druid movement 
D to raise questions about the practices and members of the Modern 

Druid movement 

“The similarities are obvious, he said in 2014” (alinea 7) 
1p 13 In welke eerdere alinea wordt al duidelijk dat hij overeenkomsten ziet? 

Noteer het nummer van deze alinea. 

1p 14 How does Gavin Haynes portray John Rothwell in this article? 
A as fairly old-fashioned 
B as rather sensitive 
C as somewhat eccentric 


